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Alpha Numeric Series Questions for IBPS 
Clerk Pre, IBPS RRB, LIC Assistant, RBI 
Assistant and SBI Clerk Pre Exams 

Alpha Numeric Quiz 32 

Directions: The questions are based upon the following six 3-letter words. 

TRE  POK  OWL  ARE  SIN  UTE 

1. If 'C' is added in the beginning of the words that start with a vowel, then how 

many meaningful English words can be formed? 

A. One    B. Two    C. Three 

D. None   E. None of these 

2. If all the letters are arranged as per alphabetical order (within the word) then 

how many letters (in the Engish alphabet series) are between the middle letter of 

third word from right end and second word from left end? 

A. 5    B. 8    C. 0 

D. 1    E. 9 

3. If 'E' is added in the end of the words that start with consonant, then how many 

meaningful English words can be formed that end with 'E'? 

A. One    B. Two    C. Three 

D. Four    E. Five 

4. How many meaningful english words can be formed if first and third letters of 

all the words are interchanged(within the word)? 

A. None   B. One    C. Two 

D. More than three  E. None of these 

 

 



 

 

5. After changing all the vowels (within the word) to their immediately succeeding 

letter and all the consonants (within the word) to their immediate preceding  

letter then which of the following will be the last letter of the fourth word from 

left end? 

A. F    B. K    C. J 

D. V    E. None of these 
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Correct answer: 

1 2 3 4 5 

C E C B A 

 

Explanation: 

 

1. Given Series: TRE  POK  OWL  ARE  SIN  UTE 

New Series  : TRE POK COWL CARE SIN CUTE 

Three meaningful words are formed which are: 

COWL : A hood shaped covering in a chimney. 

CARE : Concern about someine. 

CUTE : Adorable, lovely. 

Hence option C is correct. 

 

2. Given Series: TRE  POK  OWL  ARE  SIN  UTE 

New Series  : ERT  KOP  LOW  AER  INS  ETU 

Second word from left end is KOP, middle letter of which is "O". 

Third word from right end is AER, middle letter of which is "E". 

Number of letters between E and O are - F,G,H,I,J,K,L,M and N i.e. 9 

Hence option E is correct. 

 

3. Given Series: TRE  POK  OWL  ARE  SIN  UTE 

New Series  : TREE POKE OWL ARE SINE UTE 

Following four meaningful english words are there that end with 'E'. 

TREE - A woody perennial plant with long stem. 



 

 

POKE - Jab someone. 

SINE - Trignometric function. 

Hence option C is correct. 

 

4. Given Series: TRE  POK  OWL  ARE  SIN  UTE 

New Series  : ERT  KOP  LWO  ERA   NIS  ETU 

Only one meaningful english word can be formed. 

ERA - a time period. 

Hence option B is correct. 

 

5. Given Series: TRE  POK  OWL  ARE  SIN  UTE 

New Series  : SQF  OPJ  PVK  BQF  RJM  VSF 

'F' is the last letter of the fourth word from left end i.e. "BQF". 

Hence option A is correct. 
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